



Vendor Ranking

Letting: 06200430 April 30, 2020 11:00 AM **Call Order:** 009 **Contract:** E6N19
District: District 6 **Counties:** MIAMI-DADE **Fed Aid No:** N/A
Contract Time: 550 CALENDAR DAYS **Project(s):** 43898487201 (*)
Contract Desc: MOWING MIAMI-DADE COUNTY - ROUTINE MAINTENANCE

| Rank | Vendor | Bid Type | Bid Status | Total Bid | Percent Of Low Bid |
|------|---|----------------|-----------------|--------------|--------------------|
| 1 | TAR-MAR GROUP, CORP | Responsive | Winning bid | \$137,908.39 | 100.00% |
| 2 | LEON AMERICA CONSTRUCTION LLC | Responsive | Non-Winning Bid | \$194,822.21 | 141.27% |
| 3 | HOME FIELD SERVICES | Non Responsive | Non-Winning Bid | \$262,116.12 | 190.07% |
| 4 | SUPERIOR LANDSCAPING & LAWN SERVICE, INC. | Responsive | Non-Winning Bid | \$268,184.41 | 194.47% |
| 5 | T.T.C. ENVIRONMENTAL, INC. | Non Responsive | Non-Winning Bid | \$271,530.15 | 196.89% |
| 6 | TENUSA, INC. | Non Responsive | Non-Winning Bid | \$285,188.79 | 206.80% |
| 7 | MCINTYRE MAINTENANCE INC., | Non Responsive | Non-Winning Bid | \$323,299.38 | 234.43% |
| 8 | KNIGHT PROPERTY MANAGEMENT SERVICE, INC. | Responsive | Non-Winning Bid | \$401,286.15 | 290.98% |

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Letting: 06200430 April 30, 2020 **Call Order:** 009 **Contract:** E6N19
District: District 6 **Counties:** MIAMI-DADE **Fed Aid No:** N/A
Contract Time: 550 CALENDAR DAYS **Project(s):** 43898487201 (*)

Contract Descr: MOWING MIAMI-DADE COUNTY - ROUTINE MAINTENANCE

Electronic bids are requested for a Work Order Driven contract that consists of provide labor, equipment and materials to perform mowing, litter removal and edging on various sections of State Roads 5, 7, 9, 916, 932, 934, 969 and 826 in Miami-Dade County.

Visit www.bidx.com for more information.

| Line No / Item ID Item Description () indicates item is bid as Lump Sum | Alternate | Quantity Units | (1) TAR-MAR GROUP, CORP | | (2) LEON AMERICA CONSTRUCTION LLC | | (3) HOME FIELD SERVICES | |
|--|-----------|-------------------|-------------------------|------------|--------------------------------------|------------|-------------------------|------------|
| | | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 (LARGE MACHINE MOWING (AC | | | | | | | | |
| 0005 E104 4 1 MOWING (REGULAR/LARGE MACHINE) | | 588.000 AC | 15.00000 | 8,820.00 | 12.00000 | 7,056.00 | 50.00000 | 29,400.00 |
| 0010 E104 4 2 MOWING (SLOPE) | | 383.070 AC | 12.00000 | 4,596.84 | 10.00000 | 3,830.70 | 48.00000 | 18,387.36 |
| 0015 E104 4 3 MOWING (SMALL MACHINE) | | 1,405.740 AC | 33.00000 | 46,389.42 | 16.00000 | 22,491.84 | 48.00000 | 67,475.52 |
| 0020 E104 4 4 MOWING (INTERMEDIATE MACHINE) | | 669.450 AC | 33.00000 | 22,091.85 | 18.00000 | 12,050.10 | 60.00000 | 40,167.00 |
| 0025 E110 30 LITTER REMOVAL | | 3,658.752 AC | 10.50000 | 38,416.90 | 39.00000 | 142,691.33 | 20.00000 | 73,175.04 |
| 0030 E110 32 2 EDGING | | 1,675.560 MI | 10.50000 | 17,593.38 | 4.00000 | 6,702.24 | 20.00000 | 33,511.20 |



Tabulation of Bids

Letting: 06200430 April 30, 2020

Call Order: 009

Contract: E6N19

| Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i> | Alternate | Quantity Units | (1) TAR-MAR GROUP, CORP | | (2) LEON AMERICA CONSTRUCTION LLC | | (3) HOME FIELD SERVICES | |
|---|-----------|-------------------|-------------------------|--------------|--------------------------------------|--------------|-------------------------|--------------|
| | | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 (LARGE MACHINE MOWING (AC | | | | | | | | |
| 0001 LARGE MACHINE MOWING (AC | | Section Totals: | | \$137,908.39 | | \$194,822.21 | | \$262,116.12 |
| Contract Grand Totals: | | | | \$137,908.39 | | \$194,822.21 | | 262,116.12 |



Tabulation of Bids

Letting: 06200430 April 30, 2020

Call Order: 009

Contract: E6N19

| Line No / Item ID Item Description () indicates item is bid as Lump Sum | Alternate | Quantity Units | (4) SUPERIOR LANDSCAPING & LAWN SERVICE, INC. | | (5) T.T.C. ENVIRONMENTAL, INC. | | (6) TENUSA, INC. | |
|--|-----------|-------------------|--|---------------------|-----------------------------------|---------------------|------------------|---------------------|
| | | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 (LARGE MACHINE MOWING (AC | | | | | | | | |
| 0005 E104 4 1 MOWING (REGULAR/LARGE MACHINE) | | 588.000 AC | 29.00000 | 17,052.00 | 100.00000 | 58,800.00 | 25.00000 | 14,700.00 |
| 0010 E104 4 2 MOWING (SLOPE) | | 383.070 AC | 88.00000 | 33,710.16 | 50.00000 | 19,153.50 | 65.00000 | 24,899.55 |
| 0015 E104 4 3 MOWING (SMALL MACHINE) | | 1,405.740 AC | 66.00000 | 92,778.84 | 25.00000 | 35,143.50 | 75.00000 | 105,430.50 |
| 0020 E104 4 4 MOWING (INTERMEDIATE MACHINE) | | 669.450 AC | 66.00000 | 44,183.70 | 75.00000 | 50,208.75 | 50.00000 | 33,472.50 |
| 0025 E110 30 LITTER REMOVAL | | 3,658.752 AC | 11.00000 | 40,246.27 | 25.00000 | 91,468.80 | 20.00000 | 73,175.04 |
| 0030 E110 32 2 EDGING | | 1,675.560 MI | 24.00000 | 40,213.44 | 10.00000 | 16,755.60 | 20.00000 | 33,511.20 |
| 0001 LARGE MACHINE Section Totals: MOWING (AC) | | | | \$268,184.41 | | \$271,530.15 | | \$285,188.79 |

Contract Grand Totals:

\$268,184.41

\$271,530.15

285,188.79



Tabulation of Bids

Letting: 06200430 April 30, 2020

Call Order: 009

Contract: E6N19

| Line No / Item ID Item Description () indicates item is bid as Lump Sum | Alternate | Quantity Units | (7) MCINTYRE MAINTENANCE INC., | | (8) KNIGHT PROPERTY MANAGEMENT SERVICE, INC. | | | |
|--|-----------|-------------------|-----------------------------------|---------------------|---|---------------------|------------|------------|
| | | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 (LARGE MACHINE MOWING (AC | | | | | | | | |
| 0005 E104 4 1 MOWING (REGULAR/LARGE MACHINE) | | 588.000 AC | 50.00000 | 29,400.00 | 25.00000 | 14,700.00 | | |
| 0010 E104 4 2 MOWING (SLOPE) | | 383.070 AC | 200.00000 | 76,614.00 | 125.00000 | 47,883.75 | | |
| 0015 E104 4 3 MOWING (SMALL MACHINE) | | 1,405.740 AC | 50.00000 | 70,287.00 | 125.00000 | 175,717.50 | | |
| 0020 E104 4 4 MOWING (INTERMEDIATE MACHINE) | | 669.450 AC | 50.00000 | 33,472.50 | 50.00000 | 33,472.50 | | |
| 0025 E110 30 LITTER REMOVAL | | 3,658.752 AC | 15.00000 | 54,881.28 | 12.50000 | 45,734.40 | | |
| 0030 E110 32 2 EDGING | | 1,675.560 MI | 35.00000 | 58,644.60 | 50.00000 | 83,778.00 | | |
| 0001 LARGE MACHINE Section Totals: MOWING (AC) | | | | \$323,299.38 | | \$401,286.15 | | |
| Contract Grand Totals: | | | | \$323,299.38 | | \$401,286.15 | | |



Tabulation of Bids

Letting: 06200430 April 30, 2020 **Call Order:** 009 **Contract:** E6N19

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.